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In [1]: import numpy as np
import matplotlib.pyplot as plt

BeSIDS >4 Mk

In [2]: np.random. permutation(100) # 0 A5 100-1=99 @ 100 EDED S >4 LEF]

Out[2]: array([88, 5, 15 1, 80, 71, 11, 23, 2, 79, 34, 46, 28, 21, 53, 43, 87,
45, 19, 82, 44, 94, 83, 84, 59, 78, 68, 67, 89, 42, 17, 69, 25, 60,
85, 86, 24, 72, 29, 41, 4, 38, 6, 73, 54, 58, 50, 49, 55, 97, 74,
47, 61, 64, 35, 62, 75 52, 16, 81, 90, 10, 57, 22, 63, 39, 14, 99,
66, 31, 8, 18, 76, 13, 48, 51, 27, 26, 95 96, 30, 3, 9, 36, 56,
12, 92, 77, 33, 65 70, 37, 7, 98 91, 32, 20, 0, 40, 93])

In [3]: np.random. permutation(100)+1 # 1 /M5 100 @ 100 EDEHD S > 5 LEEF|

Out[3]: array([ 99, 6, 17, 23, 88, 77, 44, 68 30, 32, 15 39, 73,
59, 60, 81, 79, 45, 8 82, 92, 19, 46, 69, 37, 58,
m, 31, 43, 28, 56, 89, 47, 1, 95 18, 67, 63, 11,
62, 13, 20, 33, 40, 26, 36, 10, 100, 86, 70, 50, 91,
41, 24, 8, 2, 271, 55, 35 93, 94, 75, T4, 34, 12
9, b4, 64, 4, 16, 51, 78, 25 65, 84, 98, 49, 48,
42, 66, 3, 57, 76, 38, 14, 61, 90, 29, 52, 53, 80,
97, 22, 1, 72, 5 96, 21, 83, 87D

1~N 5545 AlC n Bl%Z&EEN

In[4]: # N BOHEDSIHL n EAEEINDS
N=200
n=8
RN=np. random. permutation(N)+1 # 1 ™5 N @ N EOHED S > % LEEF|
nTank=RN[0:n] # EZ%I RN @ 0 FEHM LD n EEERY HT
nTank

Out[4]: array([101, 145, 150, 82, 175, 86, 104, 27])

In [6]: # TRiEE=E
Estimator=nTank.max ()* (1+1/n) -1
Estimator

Out[5]: 195.875

In [6]: # Estimator MEDKSIZH T 2HhZEFANS
tHEEDETEZSHME (T) #YIRL T Estimator ZURET S
N=200 tHETANEER
n=8 t BESINhSE%

T= 10000 # F1TEIZK
Estimator_list=[]
for i in range(T):
RN=np. random. permutation (N)+1
nTank=RN[0:n]
Estimator_list=Estimator_|list+[nTank. max ) (1+1/n)-1]
Estimator_list=np.array (Estimator_list) # 7L AIZLTH < &{EF



In [7]:

In [8]:

In [9]:

Out[9]:

In [10]:

Out[10]:

In [11]:

Out[11]:

In[]:

# Estimator_list # g ZAR<

# Estimator_list ®9# : EX TS LA
plt.hist(Estimator_list,

range= (0, Nx (1+1/n)), # IEEIEE
bins=int (Nx (1+1/n) /4), i PSR EEE
color="red’, t BERE

alpha=0. 5, t BEDES (0~1)

ec="k') # BIC4E D1+ 5 (k=black)

plt. xticks (np. arange (0, Nx(1+1/n), 20)) # x&Eho HE
plt. show()
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# NMRMEDHER
Estimator_list. mean()

200. 2567625

o8 (FH2FRRE) 5E

Estimator_list. var ()

477.5441745810938

# TOFEAR (ZERE)
np. sqrt (Estimator_list.var ()

21.852784137978706



